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+ + =

+

=

21

?

15 14 11

C C C

B C A

Each letter is a whole number.

Fill in the equations using the chart:

C + B = 15 + C + C = 21 + = 14

+ = 11
Additional hints:

C = A + 3 A is the smallest. B is the largest.

Each letter is less than 13.

Equations and Hints:

? =

Solve:

Show Work:
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Adding and Subtracting 11

19 - 8 = 11 + 29 = 34 - 23 = 28 - 11 =

27 - 11 = 23 - 11 = 12 + 11 = 21 - 11 =

24 + 11 = 23 - 11 = 38 - 27 = 11 + 19 =

11 + 15 = 22 - 11 = 18 + 11 = 21 + 11 =

11 + 22 = 32 - 21 = 11 + 16 = 15 + 11 =

28
11+

39
11-

14
11+

25
11-

23
11+

34
23-

10
11+

21
11-

24
11+

35
11-

15
11+

26
15-

12
11+

23
11-

2
11+

13
11-

22
11+

33
22-

18
11+

29
11-

27
11+

38
27-

7
11+

18
7-

11
11+

22
11-

19
11+

30
11-

21
11+

32
21-

26
11+

37
26-

20
11+

31
11-

9
11+

33 - 22 = 13 - 11 = 40 - 11 = 11 + 8 =

40 - 11 = 29 + 11 = 10 + 11 = 28 - 11 =

5 + 11 = 11 + 18 = 21 - 11 = 11 + 29 =
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Adding and Subtracting 11

15 + 11 =

14 - 11 =

11 + 11 =

11 - 4 =

1 + 11 =

4 + 11 =

30 - 11 =

17 + 11 =

16 + 11 =

33 - 22 =

11 + 13 =

11 - 11 =

22 - 11 =

11 + 20 =

11 + 18 =

28 - 11 =

11 - 5 =

11 + 2 =

28 - 11 =

14 - 3 =

25 - 11 =

11 - 11 =

13 - 11 =

16 - 11 =

17 - 11 =

26 - 15 =

28 - 11 =

21 - 11 =

19 - 11 =

11 - 8 =

31 - 11 =

11 - 10 =

40 - 11 =

2 + 11 =

14 + 11 =

11 + 16 =

Fill in the blanks using numbers
from the fact family.

29 18

11

+ =

+ =

- =

- =

Fill in the blanks using numbers
from the fact family.

11 34

23

+ =

+ =

- =

- =
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Erin is so thankful for 
her shirts. Each shirt has 
seven buttons. How 
many buttons are on 
five shirts?

Maria wants to go to 
the juggling show. 
Tickets cost $1.50. She 
has 3 quarters and 3 
nickels. How much more 
money does she need?

Nathan went to the 
beach. He found 2 
quarters, 1 nickel, 3 
dimes, and 7 pennies. 
How much money did 
he find in all?

Write a sentence about what a squirrel in a tree might be thinking.

twast tist twihs twis

meetal mihtuhl mital metall

usedd yoozd yood usd

hoorm horm hom herm

spech spaech speeh spuech

Look at these awful spellings.  Someone cannot spell!  Write the correct spelling for each misspelled word.

word root com can mean festivity comedy, comedian

https://www.mathworksheets.com


Name:
Week of December 16
MathWorksheets.com

Some vowels are missing in the word search.
Fill in the missing vowels and circle the words.

T E P E N E E K K N

T K T K G E R R N E

N N N P N P L L

I P L M N D O D W

G L D A M S P O S

O C N T C G P

D D R N K D G O P

R K K N G G I

N N E S C R E A T E

L A S T I I T D M Q

TOLD DIG KEEN MEND
GO NOTICE CREATE PILL
DRINK

7 7
- 3 5

8 3
- 6 3

4 7
+ 7 2

9 7
+ 6 2

There are 21 firemen at 
the fire. Are there about 
10, about 20, or about 30 
firemen at the fire?

4
7

+ 8 0

4 4
+ 4 3

importent

impartant

imporant

important

9 + = 14

9 + = 13

12 + = 20 8 + = 10 4 + = 8 5 + = 12
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7 7 + 5 =
Round to the nearest hundred.

75,566 is rounded to 

73,349 is rounded to 

8,241 is rounded to 

past

passt

paast

pust

Expand the number.

6,122 = + + + 2

Max's family flew to 
Jamaica. The plane took 
off at 11:12 a.m. It landed 
at 2:45 p.m. How much 
time passed? (NOTE: 
Assume Max's family flew 
from the same time zone 
as Jamaica.)

1 5 + 1 =
What fraction of the
box is shaded?

3

1 4
+ 4 1

6 7
- 1 6

5 8
- 2 4

1 2 + 2 =
Write the correct symbol.

< = >

9,325 19,325

5 1 + 6 =

9 1
- 4 5

6 5
- 4 8

10 + = 17

15 + = 18

8 + = 11

7 + = 17

7 + = 22

6 + = 9

8 + = 11

6 + = 9
7 + = 15
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28
- 43

911
- 68

38
+ 14

39
+ 18

84
+ 41

501
- 66

37
+ 01

341
- 84

57
+ 63

83
+ 33

28
- 76

301
- 07

09
+ 56

46
- 93

99
- 78

57
- 61

97
+ 33

82
+ 51

77
+ 33

65
- 03

08
+ 62

96
- 42

72
+ 04

301
- 95

28
- 63

92
+ 46

921
- 07

381
- 78

55
+ 51

61
+ 42

87
- 82

86
+ 07

16
+ 45

78
- 47

66
- 14

92
+ 75

07
- 52

65
+ 47

43
+ 18

271
- 29

611
- 58

86
+ 81

2
+ 3

+ 6

+ 6

71
+

22
+

92
-

72
- 3

+ 2

- 5

12
+

82
+ 7
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Cross off the number that does NOT belong.

80, 85, 90, 94, 95, 100, 105, 110, 115, 120, 125

Why does __________ not belong in the pattern?

Cross off the number that does NOT belong.

8, 8, 8, 9, 9, 8, 8, 9, 9, 8, 8, 9, 9, 8, 8, 9, 9

Why does __________ not belong in the pattern?
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Fill in the blanks by adding the two numbers below each hexagon.

11

8 3 7 4

34

9 8 9

29

7 9 4

22

2 8 4

14

3 4 3

26

5 7 7

15

5 4 2

10 + = 16 4 + = 6 6 + = 9 10 + = 18

4 + = 8 8 + = 15 7 + = 21 8 + = 12
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There are 14 boys in 
second grade. Each 
boy set 5 goals. How 
many goals did they set 
in all?

Ava made 18 streamers 
for the New Year's Eve 
party. Each streamer 
was 9 feet long. How 
many yards long was 
each streamer?

Ms. Hall bought a 
rubber eraser for 8¢. 
She gave the clerk a 
coin and got 2¢ change. 
What coin did she give 
the clerk?

Fill in the boxes so each line equals 13.

13

16 -

÷ 2

x 1

( 18 + ) -

Making Valentines

Wyatt 2

Cody 3

Liv 4

How many valentines 
did Liv make?

Who made the fewest 
valentines?

8 + 3 = 3 + 7 = 12 - 3 = 4 - 1 =

5 + 4 = 9 - 2 = 6 + 7 = 4 - 2 =
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Look at the balance.  What does it tell you?  Write a sentence to explain.

=
True False

=
True False

<
True False

=
True False

=
True False

Did you find that one is true?  If not, look again!
You should only mark TRUE if you are absolutely sure it is correct!

7 + 2 = 9 - 3 = 13 - 5 = 8 - 4 =

8 + 4 = 6 + 1 = 2 + 4 = 1 + 8 =
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Eric Rose Jason Sarah
79 17 9 44

Facts

Eric is nine years old.

Rose is seventy years older than Eric.

Jason is thirty-five years older than Eric.

Sarah is eight years older than Eric.

How old is Eric?

How old is Rose?

How old is Jason?

How old is Sarah?

1

+ 1

6

Fill in the blanks with
these numbers:

8, 7, 5

1 4

+

8

Fill in the blanks with
these numbers:

6, 4, 7
7 7

+ 2 6
2 8

+ 1 9

word root mis can mean bad mistake, misfortune

4 + = 14

6 + = 10
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